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PR AT AR A L 0 0 0 0
AT IR 17 25 18 43




15/ 16 R—2

I tH H 5 z &t
P AT R RN4A 25 34 27 61
FEIHET KR 25 38 36 74
BRI K 11 14 16 30
PR AT KRR 0 0 0 0
FHET KB & 0 0 0 0
FHETRA 7 A 14 23 18 41
AT R 56 41 32 73
FERATERA LT 0 0 0 0
FRETHT S E 4 4 7 11
FEHETEIR 9 13 18 31
FaHET L 2Rl 1 1 3 4
FHETH AR 50 62 74 136
FEIRHT IR 27 37 38 75
FEHET A E 0 0 0 0
FEHET#E 7 A 5 6 6 12
FHETIL R A 44 57 67 124
FEiHATIE< C 4 5 8 13
FEHETIL KN 4R 65 75 85 160
FaiHETIL / 1 0 0 0 0
FEiHETIL 48 54 63 63 126
AT S5 66 94 98 192
AT RLE 13 16 20 36
FHETILFI R 39 61 54 115
FEHATOE LT 4 4 4 8
AT S 3 3 1 4
AT R 26 33 28 61
FERET/MEST A 3 5 4 9
AT/ MEE 4 4 4 8
TR ET R BB R B B 43 51 53 104
R =R E 7 12 12 24
FEHETIEA 28 20 27 47
FHIRET T i 49 68 64 132
FEHET T 2R 1 1 1 2
PR ETET A 0 0 0 0
AT EE 0 0 0 0
PRI E S & 82 84 89 173
FEHETE AL 0 0 0 0
FEHETE 1L 0 0 0 0
AT SLERLL 3 5 6 11
FERETE 7 6 5 11
78 ET E A 10 15 16 31
FHET R ER 59 76 75 151
PR T R 0 0 0 0
FEHET R 0 0 0 0
75 37 T 7 4R 15 13 12 25
FEHETEE / A 0 0 0 0
AT R E 18 23 27 50
7aHET G S4E 119 123 136 259
FEHET R L 13 22 18 40
783HET B B 44 56 55 111
PRI R 19 26 22 48
AT FA 3 2 3 5
FaHETEE 4 6 4 10
FHATR R 32 36 45 81
FEHET R 0 0 0 0
PR E 4 54 69 58 127
PR HT 5 4 I 18 19 20 39
75 R T BRI 5 11 13 12 25




16 /16 R—2

I tH H 5 z &t
FEHETR—K 22 25 21 46
FERETRAR A 13 16 16 32
FEHETHIE 6 8 7 15
FEHETIE D) 12 19 17 36
FEHET AR 0 0 0 0
FEHETAILE 15 13 15 28
FEHETRYIS 38 41 52 93
FEHET AL 14 15 26 41
FEHET LI 18 23 22 45
FIHET &R 18 25 21 46
AT KE 0 0 0 0
FHETET 0 0 0 0
FHETRIRE A 34 50 52 102
PR R 47 1 65 78 91 169
FiHETE < C 3 4 3 7
FEHETER 0 0 0 0
75 H BT R RN 4R 79 88 85 173
PR AT R S 4E 67 98 77 175
FHETR R 15 60 87 74 161
75 A BT R BA AR 1 1 1 2
PR = #TE 36 42 39 81
FH R T = i 0 0 0 0
AT E R 0 0 0 0
PR AT EAAR 16 24 17 41
PR AT L 0 0 0 0
AT R 29 41 38 79
FEHETE L 2 2 1 3
FEHET ML 56 88 87 175
FEHETFIE 14 19 22 41
FEHETF L 0 0 0 0
FEHETHIR 0 0 0 0
76 37 T L0 14 18 19 37
FRATREE 87 97 101 198
iRl AN A 1 3 1 4

e &Ft 2,085 2,582 2,593 5,175
AT At 31,639 37,713 38,480 76,193




